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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 3rd Semester [Special] Examination, 2022 

SEC1-P1-PHYSICS 
Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

The question paper contains SEC-1A and SEC-1B. Candidates are 
required to answer any one from the two papers and they  

should mention it clearly on the Answer Book. 

 SEC-1A
COMPUTATIONAL PHYSICS 

 GROUP-A / িবভাগ-ক / lewg-d 

1. Answer any four questions from the following:
িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
dquS pkjoVk iz”ug:dks mÙkj ys[k & 

3×4 = 12

(a) What is the significance of computers in Physics?
পদাথর্িবদয্ায় কিmউটােরর grt আেলাচনা কর। 
HkkSfrd”kkL=ek dEI;qVjdks egRo ds gks \ 

3

(b) What is a logical variable? How is it declared in Fortran?
লিজকয্াল চলরািশ িক ? েফার¹ান-এ এিট িকভােব েঘাষণা করা হয় ? 
rkfdZd pj Hkusdks ds gks \ QksVZjkuek ;ks dljh ?kks’k.kk xfjUN \ 

2+1

(c) What is the “Preamble” in LaTeX file?
লয্ােটk-এ “Preamble” বলেত িক েবাঝায় ? 
ysVsDl Qkbyek “Preamble” Hkusdks ds gks \ 

3

(d) How does a “DO-WHILE” loop work in Fortran?
েফার¹ােন “DO-WHILE” লুপ িকভােব কাজ কের ? 
QksVZjkuek “DO-WHILE” yqi dljh dke xNZ \ 

3

(e) Write an algorithm to compute !x . 

!x  িনণর্েয়র অয্ালগিরদমিট েলখ। 
!x  x.kuk xuZdks fufEr dyu fcf/k ys[kA 

3

(f) Write the Gnuplot command to plot 5)(cos)(sin 22 xx  in the range 1x  
to 1x .  

Gnuplot িদেয় 5)(cos)(sin 22 xx -এর েলখিট 1x  েথেক 1x  পযর্n অìেনর 
িনেদর্শিট েলখ। 

1x  nsf[k 1x  dks nk;jkek 5)(cos)(sin 22 xx  dks IyV xuZ Gnuplot 
vkns”k ys[kA 

3
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 GROUP-B / িবভাগ-খ / lewg-[k 

 Answer any four questions from the following 

িনmিলিখত েয-েকান চারিট  pেűর উtর দাও 
dquS pkjoVk iz”ug:dks mÙkj ys[k 

6×4 = 24

2.  (a) Draw the flowchart to find the prime numbers from the n-natural numbers. 
n-পূণর্ সংখয্াgিল হেত েমৗিলক সংখয্াgিল েখাঁজার একিট েŅা-চাটর্ �তির কর। 
n-izkÑfrd la[;kg:ckV vfoHkkT; la[;kg: [kksTudks fufEr vuqØe pkVZ dksjA 

3

(b) Write an algorithm to compute the sum of all odd numbers in a given range. 
িনেদর্িশত সীমার মেধয্কার িবেজাড় সংখয্াgিলর সমিŶ িনণর্েয়র অয্ালগিরদমিট েলখ। 
fnb,dks nk;jkek lcsZ fctksj la[;kg:dks ;ksxQy x.kuk xuZ dyu fof/k ys[kA 

3

  
3.  (a) Explain the use of Logical IF and Block IF statement in Fortran with examples. 

লিজকয্াল IF এবং bক IF-এর বয্বহার উদাহরণসহ বয্াখয্া কর। 
QksVZjkuek rkfdZd IF j Cyd IF LVsVesUV-dks iz;ksx mnkgj.k lfgr O;k[;k xjA  

4

(b) How data can be stored in a file in FORTRAN?
েফার¹ান িদেয় ডাটা েsার করার pিkয়ািট েলখ। 
QksVZjkuek QkbyfHk= MkVk dljh Hk.Mkj.k xuZ lfdUN \

2

  
4.  (a) Why LaTeX is heavily used to write scientific documents? Explain.

িবjান িবষয়ক নিথ েলখার জনয্ েকন LaTeX  েবিশ বয্বhত হয় ? বয্াখয্া কর। 
oSKkfud dkxtkr ys[udks fufEr LaTeX fdu /ksjS ek=kek iz;ksx xfjUN \ O;k[;k 
xjA 

3

(b) Write the LaTeX statements to create the following matrix equation.
িনmিলিখত ময্াি¹k সমীকরণিট েলখার জনয্ LaTeX  িনেদর্শgিল েলখ। 
fuEu E;kfVªDl lehdj.k jpuk xuZdks fufEr LaTeX LVsVesUV ys[k] 

   

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

z
y
x

 = 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

z
y
x

100
0cossin
0sincos

 

3

  
5.  (a) What will the following input file do in Gnuplot? Explain.

িনmিলিখত Gnuplot িনেদর্শিট িক করেব তা বয্াখয্া কর। 
Gnuplot ek fuEufyf[kr buiqV Qkbyys ds xNZ \ O;k[;k xjA 

 p ‘mydata.txt’ u 2:4 w lp lt 1 pt 2 
 set xlab ‘x data’ 
 set ylab ‘y data’ 
 rep 

4

(b) How X-tics and Y-tics can manually be changed in Gnuplot? 
Gnuplot-এ X-tics এবং Y-tics িকভােব পিরবতর্ন করা যায় ? 
Gnuplot ek X-tics j Y-tics dljh E;kuqvy :iek ifjorZu xuZ lfdUN \ 

2
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6.  (a) Write the LaTeX statements to write the following equations as formatted below, 
িনmিলিখত সমীকরণgিল েযভােব সিjত আেছ, েসভােব েলখার LaTeX িনেদর্শিট েলখ। 
fuEufyf[kr lehdj.kg: ry fnb,dk <k¡pkek ys[udks fufEr LaTeX LVsVesUV ys[k] 

 yx  zw  cba  

 yx2  zw
2
13  ba  

 yx 254  uzw 1  bcab  

4

(b) How can an image be inserted in LaTeX document? 
েকান LaTeX  নিথেত ছিব েদওয়ার উপায় িক ? 
LaTeX dkxtkrek Nfo dljh lfEefyr xuZ lfdUN \ 

2

  
7. Write short notes on Unconditional GOTO, computed GOTO and assigned 

GOTO statement in FORTRAN.  
েফার¹ােন Unconditional GOTO, computed GOTO এবং assigned GOTO-এর উপর 
সংিkp টীকা েলখ। 
QksVZjkuek Unconditional GOTO, computed GOTO j assigned GOTO LVsVesUV 
ekfFk NksVks fVIi.khg: ys[kA 

2+2+2

  

 GROUP-C / িবভাগ-গ / lewg-x 
 Answer any two questions from the following

িনmিলিখত েয-েকান dিট  pেűর উtর দাও 
dquS nqbZoVk iz”ug:dks mÙkj ys[k 

12×2 = 24

8.  Write a LaTeX code which will reproduce the following text.
িনmিলিখত অনুেcদিট LaTeX-এ েলখার িনেদর্শিট েলখ। 
LaTeX dksM ys[k tlys fuEu ikB iqu% mRiknu xNZ] 

 Many physical problems involve 
 minimization of a quantity that 
 is expressed as an integral. 
  Consider the path that 
 gives the shortest distance 
 between two points in the plane, 
 say ),( 11 yx  and ),( 22 yx . Suppose 
 that the general curve joining 
 these two points is given by 
 )(xyy . Then our goal is to find 
 the function )(xy  that minimizes 
 the arc length: 

  ∫
),(

),(

22

11

)(
yx

yx

dsyJ  

   dxy
x

x
x∫

2

1

2)(1  

Note that we use )(xyy xx  to denote the derivative of y, i.e., )()( xyxyx . 

12
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9. Consider a cannon shell is fired with an initial speed 0v  at an angle  relative to 

the horizon. Write an algorithm and a Fortran code to find the trajectory of the 
shell. Also write a Gnuplot input file to visualize the trajectory of the shell. 

একিট কামােনর েগালােক 0v  েবগ িদেয় অনুɛিমেকর সােপেk  েকােণ েছাড়া হল। েগালািটর 
গিতপথ িনণর্েয়র অয্ালগিরদম ও েফার¹ান েpাgামিট েলখ। গিতপথিট অìেনর Gnuplot িনেদর্শিটও 
েলখ। 
fopkj xj fd rksidks [kksyykbZ f{kfrtdks lkis{k dks.k  ek izkjfEHkd xfr 0v  lax 

Qk;j xfj,dks NA [kksydks iz{ksi.k iÙkk yxkmu dyu fof/k j QksVZjku dksM ys[kA 
[kksydks iz{ksi.k dYiuk xuZ Gnuplot buiqV Qkby ifu ys[kA 

3+6+3

  

10.(a) Write a FORTRAN program to find the value of )exp(x  at 1x  by expanding it 
in a series. 

)exp(x -এর 1x -এ িসিরজ বার কের তার মান িনণর্েয়র েফার¹ান েpাgামিট েলখ। 
1x  ek )exp(x  ykbZ Jà[kykek foLrkj xjsj ;ldks eku iÙkk yxkmudks fufEr 

QksVZjku izksxzke ys[kA 

6

(b) Given a function )(xf , write a Fortran program to compute the derivative 
)(xf . 

একিট অেপkক )(xf -এর সমকলন )(xf  িনণর্েয়র েফার¹ান েpাgামিট েলখ। 
QaD”ku )(xf  dks O;qRiUu )(xf  x.kuk xuZdks fufEr QksVZjku izksxzke ys[kA 

6

  

11.(a) A data file contains frequency distribution of heights of the students in a college. 
Write a Gnuplot input file to plot histogram of the height distribution and save it 
into a PNG image file. 

একিট ডাটা ফাইেল েকান কেলেজর ছাtেদর উcতার সাংখয্ বĊনিট সংরিkত আেছ। েসই বĊনিটর 
histogram অìেনর জনয্ এবং েসিটেক একিট PNG ফাইেল rপাnেরর জনয্ Gnuplot িনেদর্শিট 
েলখ। 
MkVk Qkbyys dystek fo|kFkhZg:dks mpkbdks fÝDosUlh forj.k lekos”k xNZA mpkb 
forj.kdks fgLVksxzke IyV xuZ Gnuplot buiqV Qkby ys[k j ;lykbZ PNG Nfo 
Qkbyek lso xjA 

6

(b) Write a Gnuplot input file to plot the following functions with proper 
annotations in polar coordinate system and save it in an EPS image file. 

িনmিলিখত অেপkকgিলেক েপালার gােফ অìেনর এবং েসিটেক EPS ফাইেল সংরkণ-rপাnেরর 
জনয্ Gnuplot িনেদর্শিট েলখ। 
/kzqoh; leUo; iz.kkyhek mfpr ,uksVsludks lkFk fuEu QaD”ku IyV xuZdks ykfx 

Gnuplot buiqV Qkby ys[k j ;lykbZ EPS Nfo Qkbyek lso xj] 

  )44(sin2r  and )5(cos3r  

6
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 SEC-1B
ELECTRICAL CIRCUITS AND NETWORK SKILLS 

 GROUP-A / িবভাগ-ক / lewg-d 
1. Answer any four questions from the following:

িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
dquS pkjoVk iz”ug:dks mÙkj ys[k & 

3×4 = 12

 (a) Distinguish between the single phase and three phase AC sources.
এক েফজ এবং িতন েফেজর AC উৎসgিলর মেধয্ পাথর্কয্ কর। 
flaxy Qst j Fkzh Qst ,lh Lkzksrg: chp Hksn xjA

3

(b) Draw the electrical circuit symbols of (i) Relay, (ii) Circuit breaker and 
(iii) Volt-meter. 
িনmিলিখত যntাংশgিলর বতর্নী িচtgিল অìন করঃ 
 (i) িরেল, (ii) সািকর্ট েbকার এবং (iii) েভাl-িমটার। 
(i) fjys] (ii) lfdZV czsdj j (iii) HkksYV-feVjdks fo|qrh; lfdZV izrhdg: cukmA 

3

(c) Define blue-print and explain its significance.
bl-িpn িক এবং তার তাৎপযর্ িক ? 
Cyw-fizUV ifjHkkf’kr xj j ;ldks egRo O;k[;k xjA 

3

(d) What are half-power points, bandwidth and Q-factor in a series LCR circuit? 
েকান LCR েËণীসমবায় বতর্নীেত অধর্ kমতা, bandwidth ও Q-factor িক ? 
J̀a[kyk LCR lfdZVek gkQ-ikoj iksbUV] C;kUMfoFk j Q-¶;kDVjg: ds gqu~ \ 

3

(e) What are the advantages of using inductive and capacitive circuits over resistive 
circuits? 
েরাধক বতর্নীর tলনায় আেবশক বতর্নী ও ধারক বতর্নীর সুিবধা িক িক ? 
izfrjks/kkRed lfdZVg:ek bUMfDVo j D;kisflfVo lfdZVg: iz;ksx xnkZ ds Qkbnkg: 
Nu~ \ 

3

(f) Explain physically how a p-n junction diode can act as a rectifier.
একিট p-n জাংশন ডােয়াড িকভােব একমুখীকারক িহেসেব কাজ কের তা বয্াখয্া কর। 
HkkSfrd :iek O;k[;k xj fd dljh p-n taD”ku Mk;ksMys jsfDVQk;jdks :iek dke 
xuZ lDNA 

3

  

 GROUP-B / িবভাগ-খ / lewg-[k

 Answer any four questions from the following 

িনmিলিখত েয-েকান চারিট  pেűর উtর দাও 
dquS pkjoVk iz”ug:dks mÙkj ys[k 

6×4 = 24

2. Show that for an AC circuit— 
 Real power = apparent power × power factor. 
What do you mean by wattless component of current? 
েকান AC বতর্নীর েkেt েদখাও েয — 
 pkত kমতা = আপাত kমতা × power factor.   
তিড়েতর ওয়াটেলস কমেপােনn বলেত িক েবাঝ ? 

5+1
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,lh lfdZVdks ykfx ns[kkmuqgksl~ & 

 fj;y ikoj = vijsUV ikoj × ikoj ¶;kDVjA  
djsUVdks okVysl dEiksusUV HkUukys ds cqf>UN \ 

  
3.  (a) What are active and passive components of electrical circuits? 

তিড়ৎ বতর্নীর সিkয় ও িনিkয় কমেপােনn িক িক ? 
fo|qrh; lfdZVek lfØ; j fuf’Ø; dEiksusUVg: ds gqu~ \ 

3

(b) Define ideal current and voltage sources. 

আদশর্ তিড়ৎ ও েভােlজ উৎেসর সংjা দাও।  
vkn”kZ djsUV j HkksYVst lzksrg: ifjHkkf’kr xjA 

3

  
4. An AC tVV sinemf 0  is applied across a pure inductance L. Obtain expression 

for (i) the current I, and (ii) the inductive reactance LX  in the circuit. Draw the 
phasor diagram showing emf 0V , current 0I  and their phase difference . 

একিট ǖd আেবশেকর (L) dpােn একিট AC েভােlজ tVV sin0  pদান করা হল। বতর্নীেত 

(i) তিড়ৎpবাহ ও (ii) িরয়াকেটn LX  িনণর্য় কর। েফজর িচt অìন কের তােত েভােlজ 0V ,
pবাহমাtা 0I  এবং তােদর দশা পাথর্কয্  িনণর্য় কর। 
,d ,lh tVV sinemf 0  “kqn~/k bUMDVsUl L ek ykxw xfjUNA (i) djsUV I j 

(ii) lfdZVek izsjd izfrfØ;k LX  dks lehdj.k izkIr xjA emf 0V , djsUV 0I  j 

fruhg:dks pj.k fHkUurk  ns[kkm¡nS Qstj js[kkfp= dksuqZgksl~A 

3+3

  

5. What is a rectifier? Draw a neat circuit diagram for a full wave rectifier and 
explain its operation and calculate the efficiency of rectification. 

একমুখীকারক িক ? পূণর্ বতর্নী একমুখীকারেকর একিট sŶ বতর্নী িচt অìন কের তার কাযর্pণালী 
বয্াখয্া কর। ইহার কাযর্kমতা িনণর্য় কর। 
jsfDVQk;j Hkusdks ds gks \ Qqy osHk jsfDVQk;jdks ykfx lQk lfdZV js[kkfp= dksj j 

;ldks lkyudks O;k[;k xj vfu lq/kkjdks izHkkodkfjrk x.kuk xjA 

2+2+2

  
6. What is protective relay? What are the essential components of a protective 

relay? Explain electromechanical relays as circuit breakers. 

pিতরkামূলক িরেল িক ? এর আবশয্ক অংশgিল িক িক ? ইেলেkােমকািনকাল িরেল িকভােব 
বতর্নীেছদক িহেসেব কাজ কের বয্াখয্া কর। 
lqj{kkRed fjys Hkusdks ds gks \ lqj{kkRed fjysdks vko”;d ?kVd ds gks \ 
bysDVªksesdkfudy fjysykbZ lfdZV czsdjdks :iek O;k[;k xjA 

2+2+2

  
7. What is single phase and three phase motor? Differentiate between them. 

একক-দশা ও িতন দশার েমাটর িক ? তােদর মেধয্ পাথর্কয্ কর। 
,dy-pj.k j rhu pj.k eksVjg: ds gqu~ \ fruhg: chp Hksn xjA 

4+2
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 GROUP-C / িবভাগ-গ / lewg-x 

 Answer any two questions 

েয-েকান dিট  pেűর উtর দাও 
dquS nqbZoVk iz”ug:dks mÙkj ys[k 

12×2= 24

8.  (a) What factors causes power loss in electrical cables and conductors? What is 
dielectric loss in cable? 
িক িক কারেণ তিড়ৎবাহী তাের বা পিরবাহীেত power-loss হয় ? েকান তাের dielectric loss বলেত 
িক েবাঝ ? 
dqu dkjdg:ys fctqyhdk rkjg: j dUMDVjg:ek ikoj gkfu xNZ \ dscyek 
MkbysfDVªd gkfu Hkusdks ds gks \ 

3+3

(b) What are required for making an extension board? Show the schematic diagram 
of it. 
এkেটনশন েবাডর্ বানােনার জনয্ িক pেয়াজন ? এর একিট েলখিচt আঁেকা।    
,DlVsUlu cksMZ cukmu ds ds pkfgUN \ ;ldks ;kstukc) js[kkfp= ns[kkmA 

4

(c) What is a fuse and what are its application? 
িফউজ িক এবং এর বয্বহার িক ? 
¶;qt Hkusdks ds gks j ;ldks iz;ksx ds gks \ 

2

  
9.  (a) A galvanometer coil has a resistance of 12  and the meter shows full 

deflection for a current of 3 mA. How will you convert the motor into a 
voltmeter of range   0 to 18 V? 

একিট গয্ালভােনািমটার কেয়েলর েরাধ 12  এবং 3 mA তিড়ৎpবােহর জনয্ েসিট সmূণর্ িবেkপ 
েদখায়। এিটেক 0 েথেক 18 V  মাপার উপেযাগী েভাlিমটাের িকভােব পিরবতর্ন করা যােব ? 
,mVk xsV X;kyHkkuksfeVj dq.Mydks 12  dks izfrjks/k N j feVjys 3 mA dks 

djsUVdks ykfx iw.kZ fo{ksi.k ns[kkm¡NA rikbZ dljh feVjykbZ 0 nsf[k 18 V dks 
nk;jkdks HkksYVfeVjek :ikUrj.k xNkSZ \ 

4

(b) For tII sin0 , show that for a complete cycle, the average or mean value of 
alternating current is zero. 

েকান AC তিড়ৎ tII sin0 -এর গড় তিড়ৎ pবােহর মাtা েয শূনয্ হয়, তা েদখাও। 

tII sin0  dks ykfx ns[kkmuqgksl~ fd iw.kZ pØdks ykfx oSdfYid djsUVdks vkSlr 

eku “kwU; gqUNA 

4

(c) Explain why batteries can not be charged by AC. 
AC dারা বয্াটারী চাজর্ করা েয সmব নয়, তা বয্াখয্া কর। 
,lhys fdu C;kVªh pktZ xuZ lfdUnSu Hkusj O;k[;k xjA 

4

  
10.(a) Discuss the working principle of a DC motor, and give significance of the Back 

emf. 
DC েমাটেরর কাযর্pণালী বয্াখয্া কর এবং Back emf-এর grt বয্াখয্া কর। 
Mhlh eksVjdks dke xusZ fl)kUrdks ppkZ xj j C;kd emf dks egRo ys[kA 

6
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(b) Find voltage equation of a DC motor and establish the condition for maximum 
power. 

DC েমাটেরর েভােlজ সমীকরণিট েলখ এবং সেবর্াc kমতার অবsািট িনণর্য় কর। 
Mhlh eksVjdks HkksYVst lehdj.k iÙkk yxkm j vf/kdre ikojdks ykfx voLFkk 
LFkkfir xjA 

3

(c) A 440-V shunt motor has armature resistance of 8.0  and field resistance of 
200 . Determine the back emf when giving an output of 7.46 kW at 85% 
efficiency. 
একিট 440-V শাn েমাটেরর আেমর্চার েরাধ 8.0  এবং িফl েরাধ 200  যখন এিট 7.46 kW 
আউটপুট 85% কাযর্kমতায় উৎপn কের তখন তার back emf িনণর্য় কর। 
440-V “kUV eksVjdks vkesZpj izfrjks/k 8.0  j fQYM izfrjks/k 200  NA 85% 

n{krkek 7.46 kW dks vkmViqV fn¡nk C;kd emf fu/kkZj.k xjA

3

  
11.(a) Explain working principle of an ideal transformer. 

েকান আদশর্ ¹াnফমর্ােরর কাযর্নীিত বয্াখয্া কর। 
vkn”kZ VªkUlQeZjdks dk;Z fl)kUr O;k[;k xjA 

3

(b) Find emf equation of an ideal transformer.
একিট আদশর্ ¹াnফমর্ােরর emf সমীকরণিট িনণর্য় কর। 
,d vkn”kZ VªkUlQeZjdks emf lehdj.k iÙkk yxkmA 

3

(c) A single phase transformer has 500 turns in the primary and 1200 turns in the 
secondary. The cross-sectional area of the core is 80 sq. cm. If the primary 
winding is connected to a 50 Hz supply of 500 V, calculate — 
(i) Peak flux density 
(ii) Voltage induced in the secondary. 
একিট একক দশার ¹াnফমর্ােরর pাইমারীেত 500 পাক ও েসেকčািরেত 1200 পাক রেয়েছ। েকােরর 
psেছেদর েktফল  80 sq. cm.। যিদ pাইমািরেত 50 Hz-এর 500 V তিড়ৎpবাহ সংযুk করা 
হয়, তেব 
(i) সেবর্াc Ņাk ঘনt  
(ii) েসেকčািরেত আেবিশত েভােlজ িনণর্য় কর। 
,dy pj.k VªkUlQeZjek izkbejhek 500 j lsdsUMjhek 1200 VuZg: Nu~A dksjdks Øl-
lsD”kuy {ks= 80 oxZ lseh NA ;fn izkbejh ?kqekmjks 500 V dks 50 Hz lzksrl¡x 
tksfM,dks N Hkus] x.kuk xuqZgksl~ 

(i) ihd ¶yDl ?kuRo] (ii) lsdsUMjhek izsfjr HkksYVstA 

6
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